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(m) (m) (kN/ ) EEBfE(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
1 100kN/m##8 %% 1.00{0.00 ~ 3.98 165.07|3m%x# %% 0.00 ~ 2.36( 4.13 20.89| 100kN/m#%#8% % 1.00{ 10.58 ~ 82.53 165.07| 3m%x#8% %] 25.00 ~ 82.53| 4.13 20.89
s 1.00/3.98 ~ 11.76 100.00f Zhilst |2.36 ~ 11.76] 3.00 15.16 s 1.00f 5.00 ~ 10.58 100.00f Z=hkl4t+ | 5.00 ~ 25.00[ 3.00 15.16
9 100kN/m##8% % 1.00{0.00 ~ 3.82 162.09| 3m%#% %] 0.00 ~ 2.24| 4.04 20.39| 100kN/m#%#8% % 1.00{ 10.53 ~ 79.86 162.09| 3m%#8% %] 25.00 ~ 79.86| 4.04 20.39
s 1.00/3.82 ~ 11.60 100.00f Zhlst | 2.24 ~ 11.60] 3.00 15.16 st 1.00f 5.00 ~ 10.53 100.00f Z=hkl4t+ | 5.00 ~ 2500 3.00 15.16
3 100kN/m##8 %% 1.00{0.00 ~ 3.75 160.92| 3m%#%%| 0.00 ~ 2.20| 4.01 20.25| 100kN/m#%#8% % 1.00{ 10.54 ~ 75.06 160.92| 3m#*x#% %] 25.00 ~ 75.06| 4.01 20.25
s 1.00]3.75 ~ 11.54 100.00f Zh st | 2.20 ~ 11.54] 3.00 15.16 st 1.00f 500 ~ 10.54 100.00f Z=hkl4t+ | 5.00 ~ 2500 3.00 15.16
4 100kN/m##8 %% 1.00{0.00 ~ 3.36 153.88|3m%x# %%/ 0.00 ~ 1.99 3.86 19.51| 100kN/m#%#8 2% 1.00{ 10.75 ~ 75.65 153.88| 3m*#% %] 30.00 ~ 75.65| 3.86 19.51
s 1.00/3.36 ~ 11.14 100.00| Z+#list 1199 ~ 11.14] 3.00 15.16 s 1.00f 5.00 ~ 10.75 100.00f Z=h k4t | 5.00 ~ 30.00f 3.00 15.16
5 100kN/m##8% % 1.00{0.00 ~ 3.04 148.35|3m%x# %% 0.00 ~ 1.85| 3.77 19.07| 100kN/m#%#8 2% 1.00{ 11.06 ~ 62.25 148.35|3m%x#% %] 40.00 ~ 62.25| 3.77 19.07
s 1.00] 3.04 ~ 10.82 100.00| #+list | 1.85 ~ 10.82| 3.00 15.16 st 1.00f 5.00 ~ 11.06 100.00f Z=hkl4+ | 5.00 ~ 40.00f 3.00 15.16
6 100kN/m##8% % 1.00{0.00 ~ 2.77 143.82|3m%x#%%| 0.00 ~ 1.74] 3.71 18.74| 100kN/m#%#B 2% 1.00{ 11.41 ~ 68.00 143.82| 3m#*x#% %] 40.00 ~ 68.00| 3.71 18.74
s 1.00] 2.77 ~ 10.56 100.00| #Hnlist | 1.74 ~ 10.56] 3.00 15.16 s 1.00f 500 ~ 11.41 100.00f Z=h k4t | 5.00 ~ 40.00f 3.00 15.16
7 100kN/m##8 %% 1.00{0.00 ~ 256 140.15|3m%# %% 0.00 ~ 1.66 3.66 18.50| 100kN/m#%#8 2% 1.00{ 11.75 ~ 7191 140.15| 3m%*#% %] 40.00 ~ 71.91| 3.66 18.50
s 1.00] 2.56 ~ 10.34 100.00| #+List | 1.66 ~ 10.34] 3.00 15.16 s 1.00f 500 ~ 11.75 100.00f Z=h 4t | 5.00 ~ 40.00f 3.00 15.16
8 100kN/m##8 %% 1.00{0.00 ~ 258 140.55|3m%x# %% 0.00 ~ 1.67| 3.67 18.52| 100kN/m#%#B 2% 1.00{ 11.71 ~ 72.57 140.55| 3m%x#% %] 40.00 ~ 72.57| 3.67 18.52
s 1.00] 2.58 ~ 10.37 100.00| #+n kst | 1.67 ~ 10.37| 3.00 15.16 s 1.00f 500 ~ 11.71 100.00f Z=hkl4t+ | 5.00 ~ 40.00f 3.00 15.16
100kN/mM##BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ st ~
100kN/mM%#BZ 5% ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ ZFhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ ZFhLst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ ZFhLst ~ ZFhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ st ~ ZFhLst ~ ZhLst ~
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